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e A 113,014 -10.8 -5.0 100.0 1,025,504 -4.5

o Of 38,041 -15.1 -13.0 33.7 385,932 -6.4
7| o} 37,193 -13.0 i 32.9 323,413 0.6
Sk X 4,745 -2.9 -11.0 4.2 39,316 -21.2
&4 = 4,861 -14.0 —28.4 4.3 37,138 -31.7
B AN 4,573 -6.7 -23.3 4.0 37,891 -42.7
Mercedes—Benz 6,734 -4.9 11.7 6.0 55,987 17.6
BMW 5,214 -13.4 -28.1 4.6 47,497 30.1
Audi 1,341 -49 1 -33.7 1.2 14,771 2.3
Volkswagen 1,305 38.7 48 1 1.2 10,998 17.0
Volvo 1,152 -0.1 242.9 1.0 9,934 25.3
MINI 969 11.4 -12.5 0.9 8,013 11.1
Lexus 933 -9.2 32.7 0.8 6,828 35.2
Porsche 657 -6.0 18.6 0.6 6,721 15.1
Honda 518 58.4 114.9 0.5 2,632 38.9
Toyota 467 -32.4 7.9 0.4 4 375 16.4
Jeep 428 -57.3 4.4 0.4 7,358 46.3
Ford 326 8.7 -25.4 0.3 4,210 -6.9
Land Rover 284 18.8 1.4 0.3 1,943 -34.4
Lincoln 249 51.8 72.9 0.2 2,538 50.8
Peugeot 203 18.7 -6.0 0.2 1,450 -11.2
Cadillac 132 69.2 48.3 0.1 712 -19.6
Maserati 80 29.0 0.1 547 1.7
Bentley 53 12.8 140.9 0.0 308 3.2
Citroen 53 -7.0 -11.7 0.0 335 -52.6
Lamborghini 36 59 0.0 250 29.5
Jaguar 19 35.7 -64.2 0.0 266 -45.5
Rolls—Royce 17 -15.0 0.0 0.0 161 51.9
Infiniti 0 -100.0 0.0 0 -100.0
Nissan 0 0.0 0 -100.0
Tesla 2,431 10,950.0 84.3 2.2 14,080 66.4
= {hR} 88,253 -13.4 -1.6 78.1 815,443 -1.7
2ol X} 24,761 -0.2 -15.3 21.9 210,061 -13.9
*E2 N SEASKMEYEY, SRS A Y

* I AERE By, 7|0F k=X, A8, 2 AE(57HAL

SPEN OI_EEXPEOH CHotd KtMISH LHE= RJotAIH AESA&NIAE ASItd

2342l BRNNE N0 Ol & F=22(044-203-4323) Ofl Hl A== A1D| BHEFLIC.
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